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In:  wcicvres. 1uuinay use your caiculator. All work must be shown in the manner
shown in class in order to receive full credit. An answer only does not guarantee full
credit, and more than likely will not receive full credit. Box your final answer and when
more room is needed please direct me to the work. Good luck!

1. Simplify the following:
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3. Divide the following. Show all wmé.]j/emember they aren’t the same.
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4. Add or subtract. Simplify completely.
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Write the following in standard form.
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Change the foll wing to correct scientific notation.
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7. Multiply/divide using only scientific notation. You MUST show your work using
exponent rules or I will only give you partial credit. Make sure your answer is in

correct scientific notation. . ,
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can be used to solve it but solve only 1 problem. }d ﬁm */ “i‘dzm /J&
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John travels down the river to Lovelyville in 5 hr. and his return trip takes 6 hr. If ¥~ ?E\_ - kO::‘/
the distance to Lovelyville is 90 miles what is his boat’s rate of speed and what is L
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Julie invested $24,000 in two funds. The first, a bond, paid 5% simple annual
interest and the 2", a money market, paid 3% simple annual interest. She earned
a total of $1120 in interest in one year. How much did she invest at each rate?
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You may use the method o irour choice to solve the followmg system.
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' 10.  Factor each of the followmg completely.
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11.  Solve the system of linear inequalities. Show your work for checkpoints. K 1—
show 2 points labeled on each line that you use graph the boundary nes.
Use your own graph paper. EC Find the int; jon of the bound lines.
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12.  Simplify the following: -2 =15 o (R=5Xx+3) _ (3 x3)
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14.  Add or Subtract. Don’t forget to simplify.
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